Homework 15 Math 48C Mitchell Schoenbrun
10.1 P. 690 2-32 Even 36, 40, 42, 44 , 50, 52

2. 4,
B R m——
6. 8.
(t::rjéz; ‘sin(ﬁ) = S(izs((;)))/ilzs((?) = cos’ (9) Cot(ﬁ)sin(ﬁ) = ::((Z)) sin(é’) = cos(@) =75
0~.723,5.56 or41.4°,318.6°
10. 12.
-2 1

~2sec(a)=cse(a) - cos(a) sin(a)

cos(—8)=cos(6)

sin(a) _ ! — tan(a) = 1

cos(ar) 2 2

a~2.68,5820r153°,333°

14. 16.

tan (—f)cos(=p) =sin(~f) = —sin(5) cse’ (—x) = (—csc(x))2 =csc? (x)

18. 20.

sin(-0)=.73 - —sin(0) =.73 > sin(6) =—.73 ; sin(-9) ) ‘s —sin(8)  4.12

0~ .818,5.46 or 46.9°313.1° cos(-0) | cos(d) 3
sin(0) _ 412 an(@)—ﬁ
cos(0) 3
0 ~2.20,5340r126°,306°

22. 24.

sin(%—@] — cos(6)

cos(90° —~ 6’)sec(6’) =sin(6) =tan ()

cos(0)

23.
cos(%—@j ——0.61—sin(#) =—0.61

0 ~.656,5.627 or 37.59°,322.41°

30.
~1= cos(@)cot(%—é’j — cos(f)tan(6)=-1
sin(0) =-1

0 :3_7z or 270°
2

32.

2
Vi 7
cos’| = |~.655 cos| —| ~1.165
5 5
2
NG r
cos’| = | # cos| —
(5j (5j




36. 40.
) _
sec? (6) tan? (6) = 21 _51112(6’) _ [csc )+cot(6 }[csc —cot(0) }—
cos’(0) cos’(0) + (6)—cof* (6) = cos’ (0)
csc co =
l—sinz(ﬁ)_cosz(ﬁ)_ sin ( ) sin” (0)
cos’(0)  cos’(0) l—cosz(ﬁ)_sin (6’)_
sin’ (0) _sinz(ﬁ)_
2. 44,
[1 —sin’ (x)] [sec(x)] =-0.1 sin(w)=2. 7[1 s? (W)}
i 2.
(0] oo | i) =27’ ()]
cos(x) . 1
sin(w)=——
cos(x)=-0.1 2.7
x~1.67,4.61 or95.7°,264.3 w=~.379,5900r 21.7°,338.3°
50. 52.
2sin’(6)—sin(8)=1 3sin*(6)—2cos(0) =3cos(8)+1
2sin’ (@) —sin(6)-1=0 3(1—cosz(0))=5cos(6’)+l
(25in(9)—1)(sin(0)+1 =0 3-3cos’(0)=5cos(0)+1
sin(@):—%orsin(ﬁ):—l 3cos’(0)+5cos(0)-2=0
p="7% 17 37 01003307 270° (Beos(®) 1)ieos(9-2)
"6 6 2 »90Y cos(0) =2 (Impossible)
1
9)=_2
cos(0) 3
0~191,4.37 or109°, 250°




